
Ââåäåíèå â òåîðèþ èíòåãðàëüíûõ óðàâíåíèé. Ëèñòîê 2.

Ñðîê ñäà÷è � 4 ìàðòà.

Íàéòè u(x) èç óðàâíåíèé

1. u(x) = λ
π
∫

0

cosxu(t) dt.

2. u(x) = x+ λ
1
∫

0

(x− t)u(t) dt.

3. u(x) = λ
2π
∫

0

sin x sin tu(t) dt+ f(x).

4. u(x)− 4
π/2
∫

0

sin2 xu(t)dt = 2x− π.

5. u(x)− λ
π/4
∫

−π/4

tg tu(t)dt = ctg x

6. u(x)− λ
1
∫

−1

earcsinxu(t)dt = tg x

7. u(x)− λ
1
∫

0

cos(q ln t)u(t)dt = l.

8. u(x)− λ
1
∫

0

arccos tu(t)dt =
1

√

1− x2

9. u(x)− λ
1
∫

0

(

x ln t− t ln x
)

u(t)dt =
6

5
(1− 4x).

10. u(x)− λ
π/2
∫

0

sin x cos tu(t)dt = sin x.

11. u(x)− λ
π
∫

0

sin(x− t)u(t)dt = cosx.

12. u(x)− λ
2π
∫

0

(

sin x cos t− sin 2x cos 2t+ sin 3x cos 3t
)

u(t) = cosx.

13. u(x) = −
1

2

1
∫

−1

[

x−
1

2
(3t2 − 1) +

1

2
t(3x2

− 1)

]

u(t)dt = 1.


